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Note: 1)  Atempt any five questions.

1.

a)

b)

fengi uta wel 1 &t HIfdr

i1} All questions carry equal marks.
it weAt & w9 3

iii) In case of any doubt or dispute the English version
question should be treated as final.

fareft oft P o Wi dreran fang i ARy il wm
& "9F Y sifens wrET SrRAm|

Explain the different types of surveying in details. What
is the fundamental principle of surveying?

ga&ur {sun*cying]ﬂi fafimr vaRl o) R 9 Wﬁ"ji
Jdev o g Rigia g ?

The following consecutive readings were taken with a
dumpy level along a chain line at a common interval of
15 meter. Reduced Level (RL) of the first point was
98.085m. the instrument was shifted after fourth and ninth
readings. Calculate RL of other points by height of

instruments method.
1150, 2.245, 1.125, 0.860, 3.125, 2,760, 1.835, 1.470,
1.965, 1.225, 2.390, 3.035
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BrefiRad SR readings 15 HieX & VI IATA W
U chain line & A1Y dumpy level ¥ gy oft 7€ oft) v
fég @1 Reduced level (RL) 08.085 Hiew o Aeft 3 At
readings b 4G JIHRY Bl cerFTaRd @R & Tl height
of instruments T GRT 3 ﬁg@ﬂ ¥ RL$ IO B
3.150, 2.245, 1.125, 0.860, 3.125, 2.760, 1.835, 1.470,

1.965, 1.225, 2.390, 3.035

Describe temporary adjustment of theodolite. What are
the fundamental lines of theodolite?

Theodolite % 3Rl THRIAT @1 guig @¢| Theodolite
& Tere Y a ¥

The following table is relat
Find out the missing coordinates marked X and Y. Also

calculate the independent coordinates of the points P, Q

ed to a closed traverse PQRS.

and S, if the independent coordinate of R is 300, 1000.

frfarRaq daifetd! W@ closed traverse PQRS ¥ Fafi £l
X 3R v & Rt an P s | fig P, Q3R S&
s e £ oy TOFT Y AR R FT FaA s
300, 1000 &1

"Point

[ — : :
Corrected consecutive coordinates

'_._n—-_-_‘._

Latitude Departure

p | 56240 Nil | Nil
o | 18030 Y
R

595.86 | 58.78
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. a) Explain the principle of stadia method in details.
Stadia fifts & Rigid P AR @ wengd

b) Differentiate between the fixed-hair method and movable
hair method. Discuss the advantages and disadvantages of
each method.

Fixed-hair fafty 3R movable hair fafé & g IR BN
e faft & wae AR Jear W gdf B

. a) Explain the elements of simple circular curve with neat
sketch.

T GUIBR ab b okdl B e Y@ H Fgar 8
REEOf

b) What do you mean by transition curves? What are the
different types and uses of transition curves?
FoFI0T 35 Y 1T T TR & 7 WspAu 35l & R WeR
3R I I FATE ?

. a) Write short notes on the following terms:
i)  Sounding equipments

ii) Nautical sextant

ii1) Tide gauge

frafafad aedl W wifdm fevafdr ford :
) eafy SueR

ii) TGl 5P

i) AR AHE
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Determine the number of photographs required to cover
an area 40 km x 25 km. If the scale of the photograph is
1 in 10,000 and the format is 230 mm X 230 mm. Take
longitudinal and side overlap as 60% and 30%

respectively.

40Mx25ﬁ¥qﬁa}aeﬁmﬁ#€ﬁfﬁvmswm
ﬁﬂwﬁufﬁaaﬁmﬁqﬁammﬂﬁﬂ 10,0009 18

oz ey 230 firdt x 230 B 81 areef aiik ored overlap
Bt B 60% 3R 30% & B

Explain prismatic compass used in surveying? What are
the temporary adjustments of prismatic compass’

ydeor A g prismatic T & R A qELY ? Prismatic
g 3 SreeTdt FHGE FE?

The following are the bearings of a closed traverse
ABCDEA., taken by a prismatic compass, in an area where
local attraction was suspected. Find out the included angles
of the traverse and correct them if necessary?

fyrfoRad W& closed traverse ABCDEA®¥ bearing & &7 |
@ prismatic ST GRT ferT 7T T, 39 &5 § & local
attraction &7 Heg A1l Traverse ¥ included 0T &1 T

Waﬂwﬁmawﬁa’rq—éﬁ@ﬁ?
Line | " Fore Bearing | Back beanng
AB 165°30' 345°30'
BC 40°45' 221°45'
CD 315°45' 135°45'
| DE 250°30" 69°30'
EA 120045 | 300°45 i
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b)

a)

b)

£51

A series of offset taken from chain line at 10 m intervals
in the following orders:

2.7,3.22,5.64, 2.88, 7.29, 6.13, 8.66, 3.24, 2.11
Calculate the area enclosed between the survey lines by
Trapezoidal and Simpsons rule.

frerfea o § 10 e & sieRrel W 9 org A oft 7
Gﬁﬁﬂﬁféﬂqafﬂﬁﬂﬁn

2.7,3.22,5.64,2.88,7.29, 6.13, 8.66, 3.24, 2.11
Trapezoidal 3R Simpsons 75 GRT FdeT YEral & d
fere & (area) &l TOFET @] hitps:/iwww rgpvonline.com
Write the short notes on the following terms:

1) Latitude and departure

1) Trigonometric leveling

111) Compound curves

et oteq) w wfdm fovufimt ford -

i) 3reeT 3R TR

i) Bemidy e

iii) A e

What is meant by relief displacement? Derive the
expression of relief displacement.

Relief displacement ¥ &1 IR £ ? Relief dis placement
i aiftreafad w

A circular curve has 350 m radius and deflection angle of
45°. Calculate:

i) Lengthofcurve

ii) Tangentlength

iii) Length of long chord

iv) Mid-ordinate, and

v) Chainage of tangent points

If chainage of intersection pet~* *s 900 m.
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T B a1 T 350 e SRR faur v 45°
TOHT &R

i) dh B AN

i) waaRear Hi a8

iii) et offar &t e

iv) WE-AEEd AR

V) W?ﬁ@ﬁ@aﬁﬁm

afe wfese fig & s@ar 900 fic 8

sk eokok
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